1T6r(r)1p Series: [ 9. 10. 12. 13. 17.], erreur Mk 0 = 346.88308345f8n6p Series: [ 9. 10. 12. 13. 5.], erreur Mk 1 = 356.972710002

Terr(1)p Series: [ 9. 10. 12. 13. 11.], erreur Mk 2 = 373.4186
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Temp Series : [ 9. 10. 12. 13. 4.], erreur Mk 4 = 379.211099978f6r6p Series : [ 9. 10. 12. 13. 7.], erreur Mk 5 = 390.839939355
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il-'%nbp Series: [ 9. 10. 12. 13. 18.], erreur Mk 6 = 391.48664959211'6%p Series: [ 9. 10. 12. 13. 1.], erreur Mk 7 = 392.377703954
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ir8r6p Series: [ 9. 10. 12. 13. 6.], erreur Mk 8 = 397.248910644f6r(n)p Series : [ 9. 10. 12. 13. 2.], erreur Mk 9 = 404.811958839




